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Abstract: A new efficient algorithm for linear separable problem of synthesis of communication

network, titled "method of generalized potentials”, has been developed and validated. It is close to the well-
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1 Introduction

We consider the problem of network
synthesis for the Gale model on supply and demand
[1]. Let us consider a given oriented graph with

nodes from the set P = ipi g :1,...,77} and arcs j

from the set G. We shall also consider some set of
nodes 4 (subset of P), A= ipi =1, n}, which

we call nodes of production. Suppose the property:
i e A= D(i) = {&}, where D(ij) is a set of arcs
which enter into node i. Therefore, for nodes of

production arcs just go out. Consider also a set of
nodes C (subset of pP),

C ={pi ti=n—m+1..,7), which we will call

nodes of consumption and for which we assume the
property: 1€ C = C(i) = {@} where C(i) is a
set of arcs which go out from node i. Therefore, for

nodes of consumption arcs just enter. Let us the
remaining nodes form a set

B= {pi fi=n+1..,7—mj, which we will call

the intermediate nodes. For each node pi e A

between nodes of production, thereby determining
the production capacity and between the arcs of the
network, determining their capacities. For nodes of
product consumption demands - d; are known.
Further for simplification of the records we write
ieAieB,ieC instead of

P; € A, p; € B, P; e C. It is known, that model

with several nodes of production and limited stocks
of product can be reduced to the problem of one
node of production with the unlimited supply of
product.

The task is to consider possible
distributions of resources and associated product
flow, which due to product offerings in the nodes
of production, satisfy the product demand in the
nodes of consumption.

2 Problem Formulation
Mathematical formulation of the problem is
the following:
min( > Xx.), 1)
X, y _] el’ J

corresponds to some nonnegative production . ) . yj T 2 . yj =0,ie AUB,
capacity function ¢.(x)>0, xe X, where X — JeC) J€D()
I B .
. o > y.— Y y.=d., ieC,
the set of feasible distributions of resources. : N o) I
) ) i € D() 1 €C(i)
Furthermore, non-negative functions ¢.(x) >0, .
J yj—ajxjsbj, jeTl,

jeG, are known, which defines the arcs .

. . o X.>0, y.=>0, jer.
capacities, depending also on the distribution of J ]

resources [2]. Thus, resources are allocated as
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Where aj >0, bj >0, |, jeTl.
Problem (1) is a linear programming
problem. Here we are considering the dual

problem;

max( ¥ 4d, - X ﬂJbJ) )
A,uieC jel
1-p.a. 20, r,
,UJ j je
A . A +,u a >0, jerl,
n (1) "ny(J)
,ujZO, jel.

For problems (1) and (2) the following
theorem can be proved. It is based on applying
well-known theorems of linear programming
duality theory.

Theorem 1. For optimality of the vector (x,y) of
problem (1) is necessary and sufficient the
existence of a vector (A, u) satisfying the

constraints of problem (2) and the associated vector

(x,y) by the following expressions (the
complementary slackness conditions):
1—,ujaj:0,when xJ>0 jel, (3
A + ,u =0,

n,G) ~ ", ) |

when yj >0, jel,

. =0, when .—a.Xx.<b. jerI
“i S

The essence of the following algorithm
consists of a sequential viewing of the extreme-
point solutions (1), the values of functional for
which monotonically decreasing. For a finite
number of steps extreme-point solution of problem
(1) is founded, for which there exists a vector
(A4, 1) satisfying the constraints of problem (2)

and ratios (3). According to the above theorem 1
the optimality of this solution follows.

3 Problem Solution
The description of the algorithm is
presenting bellow. We introduce two definitions.

Definition 1. We call an arc j @-arc, if

—b.>0, x.=0.
Yi=Pi7% X

Definition 2. We call an arc j O-arc, if yj =0.

The restrictions of the problem (1) can be
reduced to an equivalent system of equalities
specifying limits on the capacities of the arcs as

y.—a.X.+z.=Db;and adding the constraint
[ B J
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zj >0, jerl. Now we can make the
following statement.
Statement 1. The vector (xy,z2) is a

extreme-point solution of problem (1) if, and only

if, when, after removal of all @- arcs in the graph
no cycle of arcs with non-zero flows remains.

Let us prove Statement 1. It is known, that
the vector (x,y,z) is extreme-point solution if and
only if the columns corresponding to the nonzero
components form a linearly independent system of
vectors. The matrix structure of the constraints in
the problem (1) is shown in Fig. 1. Let us denote
the matrix of incidence graph as IN.

The arc j is an @-arc if and only if

Zj =0, xj =0. Therefore, the columns

corresponding to these variables are not included in
the system. Then it is easy to see that in any
combination of null vectors (representing zero
vector) the column which corresponds to variable
y;, enters with a zero coefficient.

y X y
IN 0 0
1 0 | -a 0 |1 0
1 . 1
1 : 1
1 : 1
0 110 -3, | 0 1
Fig. 1. The matrix structure of the constraints in the
problem (1)

From the structure matrix of constraints, it
is easy to see that the columns of the system are
linearly independent if and only if when the
columns of the incidence matrix of the system

corresponding to non @-arcs, are linearly
independent. From graph theory, it is known, that
this is equivalent to saying that these arcs form a
forest. Which in its turn is equivalent to saying that
these arcs do not form cycles. The proof is
complete.

Definition 3. Arc j belonging to some spanning
subtree, is called properly oriented if the beginning

of the arc nl(j) belongs to the path connecting the

end of the arc n2(j) with the root of the tree.

Let there be a spanning subtree with the set
of arcs GT, which we shall call the current subtree.
Let us also say that there is an admissible solution
(x,y) of problem (1), such that:
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1) arcs not belonging to the set GT are either 0-arcs,

or @-arcs;
2) all O-arcs belonging to set GT are properly
oriented.

Then from Statement 1, it follows that
vector (X,y) is an extreme-point solution of problem

(1). Suppose ﬂj =0 if jeGTand j is an

opposite direction @ -arc. For the rest j let ,uj =0,

1
if y.<b.and . =—,ify. >b:.
Yj=Pj e A 2, Vi=Pj
For any two nodes I; and I, in the current
subtree GT exists the only way from I, to I,. The
algebraic sum of variables ,uj along a path

connecting the nodes I, and I,, therefore, with a
plus sign if the arc has a orientation coinciding with
the orientation of the path, and negative otherwise,

_ -
will be denote as Il’ I2 .

%
Letus/IO:O, /Ii:O,i, ieAUBUC.

We will continue to check the following
inequalities:

A=A 4+ u.>0,jel’ 4
ngG) ) 4 =) @
Ao —A 20, y.>0 jel. 5
Q) (>0 V70 ) ©

It is easy to check that conditions (4) and
(5) are fulfilled for all j from the set GT.

Consider first the case when the inequality
is violated for some j, in the conditions (4). The set

of the common nodes of the paths (0, nl(jo)) and

(O,n2(j0)) is not empty. Their last common

node, if we move from the root of the tree, denote
lo. Then the paths (Io,nl(JO)) and (nZ(JO)’ IO)

together with the arc j, form a cycle. This is the
only cycle that is formed by joining arc j, to the
current subtree GT (Fig. 2).

Next, we define some values E and Y for
cycle with the set of arcs H. For the positive
orientation of the cycle we will take the orientation
of the arc jo. If the arc j orientation is positive, let
us put:

Au.=u., Ay.=b.-y.. 6
ﬂj ﬂJ yJ i yJ (6)
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If the arc j orientation is opposite, let us

put:

A= Ay.=vy._b. ify. >b.. (7
Hp=Hp A=Yty by (D)
Au. =0, Ay.=vy..if0<y.<b..

i Yi= Y oY =hj

ntjo) nz(jo)

0

Fig. 2. The structure of the cycle that occurs when
joining the arc j,

If j is the opposite oriented O-arc, then by
putting E=0 and Y=0, we will consider them
calculated. Otherwise, put them equal:

E= Y A,Ltj, Y = min ij 8)
jeH jeH:A:j>O

Statement 2. If £ >0, then

Jj:  je (n2(j0), IO) , that arc j is @ -arc or 0-

arc.
Let us prove statement 2. Let us assume the

contrary. Since in path (IO,nl(jO)) there are no
0-arcs, then from the assumptions it follows that E
is the algebraic sum of variables ,uj along the

whole cycle. Then

znz(j) —znl(j) = (o,nz(jo))—(o,nl(jo))

= ('o’”z(jo ))_(IO’nl(jO ))> %’
Io
E = (lo,nl(l'o))ﬂljo —('ovnz(jo))

1 f - ) ( - ) -
<_— _
Jo
It follows infidelity of made assumptions
from the obtained contradiction, and the proof is
complete.
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Consider the case when £ >0. In this
case, set of @-arcs and O-arcs of the path
(nz(jo), IO) is not empty. Choose the first one.
Removing it from the subtree GT and adding the
arc jo, we get a new spanning subtree GT", which

satisfies the conditions (4) and (5) for the plan (x,y).
We assume tree GT  as the new current subtree. If

we calculate a vector (Z,ﬁ) according to the
above rules, we can prove the following statement.

StatementS.l);fi:ﬂi, i: n2(jo)¢(0,i);
n2(j0)e(0,i), where
>0.

ZMi =/1i —A, i
A=4 =AU
n,(J) "n) T
Let us prove Statement 3. Item 1) is
obvious, since the node i in the new subtree GT"
has the same path (0,i) as in subtree GT.
To justify item 2), consider the nodes of
three types — X, v, z (Fig. 3).
Initially, consider the nodes of type x.

A= “nyig) Mg +[ Z(JO)X]

u +[ ighx|=

nCig) ", (i)

(i)
nz(jo) +( 2(10),x)—A:lX—A.

Next we consider the nodes of type y. Note

2(10). y) contains no O-arcs and

that the path (n

@ -arcs.

Fig. 3. The arrangement of nodes of three types — X,
Y. Z
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&)
<

n (i) ¥ + [, Gg)y)-
/1n2(jo)_/1n2(j0) ]_(Jo) ﬂ
o, lig))-

:/Inz(jo) +(”2(b y)-a-

ﬁy +(y’nz(jo))+ (”Z(J'O), y)—A =,
/1y —-A

Jo

Next we consider the nodes of type z. Note
that the path (n2(j0), A) contains no 0-arcs and

O -arcs. , ,
/12 :lnl(jo) +,ujo +(n2(j0),A)+ (A,z)

“n,(ig) 0, T ) THy T

+( (jo) A)+(A, ) ;LA+(A nZ(JO))
( (jo),A) (A,z) A= /1A+(Az)
—A—AZ—A

The proof is complete.

Now consider the case when E <O0. It is
easy to see that then Y>0. Let us demonstrate how
in this case to move to a new extreme-point
solution of problem (1) with a smaller value of the
functional. This will be carried out by cyclical
change in flow according to arc jo orientation on the

value Y, i.e. suppose yj = yj +Y, jeH,if

the orientation of the arc j is positive and

Yj = yj —-Y, jeH, if the orientation of the

arc j is not positive and )71. = yj, jeT'\H.
Put also )71. = Xj —A,qu, jeH and
szxj, jeT'\H. values A,uj were

defined above.
Statement 4. Vector (X,Y) is a admissible solution
of the problem (1).

Let us prove Statement 4. It is obvious that
a cyclical change in flow does not violate the
balance constraints for the flow. Therefore, we will
test the feasibility of only the following three
limitations:
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y.>0, X.>0, V.-a.X.<b..
Y j Yimqi%i =0

Let us do it, using the rules of Az . calculation,

formulas (6) and (7) and the formulas given above
to calculate the vector (X,Y). We consider four

different cases:
1) the arc j orientation is

Je(ly:n (iy)) (Fig. 4).
yj > bj . Then the

positive and

Consider the case 1a)

following relationship is fair, namely:
Vj =vy. +Y >0, (1st constraint). Since

]
,u.:i, A,u.:,u.zizo,itfollows
J aj J J aj

the validity of the following

ij = Xj +A,qu > Xj >0, (2nd constraint) and
y.—a.X.=y.+Y—-a.(Xx.+Au.Y)=
VimapXp =y Y magixg s au)

.—a.Xx.+Y(0l-a.Au.)=y.—-a.x.<bh.
Yi—ajXpryd-aaug)=y; —agx; <b;

(3rd constraint).

Jo

ni(jo)

nz(jo)

0

Fig. 4. The scheme of the cycle for case 1
Consider the case 1b) yj <bj . The
proof of this case coincides with the proof of case
2b) below.
2) The arc j orientation is positive and
Je(l5:n,(y)) (Fig. 5).
Consider the case 2a) yj >bj . The

proof of this case coincides with the proof of case
1a) above.

Consider the case 2b) yj < bj . Then

the following relationship is fare, namely:
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Since

(1st  constraint).

= C=pu. =0, Ay.=b.-y.>0
j Iy YiThi7i

, it follows the wvalidity of the following
X. =X. +ijY = xj >0, (2nd restriction), and

V.—-a.X.=v.+Y—-a.(X. +Au.Y)<
Yj=ajXj =y Y -a i +augY)

.—a.X.+b.—-v.=b.—-a.x.<b.
S R R I R L

(3rd constraint).

ni(jo)

Fig. 5. The scheme of the cycle for case 2

3) Arc j orientation is not positive and
J€ (g m(/y)) (Fig.6).

Consider the case 3a) yj ij . Then

the following relationship is fair, namely:

VJ = yj +Y >0, (Ist constraint). Since

1 . = ILI . :i Z O ,
. J a.

J J
the validity of the following

Xj =X. + A,qu > Xj >0, (2nd constraint).

V.—-a.X.=v.+Y—-a.(x.+Au.Y)=
Vi—ajXp =y Y mayixg i)

.—a.X.+Y(O-a.Au.)=vy.—-a.x.<b.
Yi—axjry@-azaug)=y; —ax; <b;

(3rd constraint).
Consider the case 3a) yj

it follows

> bj . Then

the following relationship is fair, namely:
Ay.=y.-b.>0,
YiTYiTh
y.=y.-Y>y.-Ay. =b. >0,
SR R By Ry

(1st constraint). Since

Volume 2, 2017



Oleg Kosorukov

jo

nitjo)

lo - ..,--'./

nzljo)

0

Fig. 6. The scheme cycle for case 3

ey =— L0t
a. J a.

J J
follows the validity of the following ratio

X . :X.+A,u.Y:X.—iYZ
| J J aj

1 1

—(a. _—A )=—(a. . = - b 20,
aj( Ay aj( YRy
(2nd constraint)),

.—a.X.=v.-Y-a. .+ Au.Y)=
Vi—apXj =y oY -agix +AugY)

. —a.x.-Y(+a.Au.)=y.-a.x. <Db.
VjmapxgoYaraghu =y -ax; <y
(3rd constraint).

Consider the case of 3b) yj Sbj . In
this case the following relationship is fair, namely:
Ay.=y.2>0,

Yi=Y]

V.=V.-Y> .—A.:O,
Yi=Yp =YY

(1st constraint). Since

Hi =0, A,uj =M, =0, it follows the

validity of the following

ij = xj +A,qu = xj >0, (2nd constraint), and
y.—-a.X.=y.-a.x.-Y<b.-a.x.<b.
y y I

J ] J ]
(3rd constraint).

4) arc | orientation is not positive and
Je(ly:n,(y)) (Fig. 7).
Consider the case of 4a) yj >bj :

The proof of this case coincides with the proof of
case 3a), given above.
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Consider the case of 4b)

. <b..
Yj=P]
The proof of this case coincides with the proof of
case 3b) above.

The proof is complete.

Statement 5. X = X :.
/%F J /%:F J

Let us prove Statement 5.

Fig. 7. The scheme cycle for case 4

X.— 3 Xj =y (ij —xj):
jell jel

> (X.—-x.)=Y ¥ Au.=YE<O
jeH J jeH J
The Statement 5 is proved.
Statement 6. There is an arc j, j € H, such that it
is either an @ -arc, or an 0-arc.

Let us prove Statement 6. We choose an
arbitrary index I such that

j € Arg min Ay .. Then
jeH :ij >0 J

0< ij =Y . Let j has positive orientation, then

the following:
=V. b.—-v.)=b.
Vi+0j-yp=b;

we have

V.=V.+Y=V. +AvV.
YpmYyrr ey Ay

That is, this arc is @ -arc. Suppose now that j has

the opposite orientation. Then, if yj >bj ,

then

~_: —Y: _—A_: _——b_ _:b_
Y=Y Yj— A=Y= (b +yp)=b;

That is, this arc is an @-arc. If 0< yj Sbj :

v .= . —Y = . —A . = -« = - = 0 .
SRS RS R S I
That is, this arc is a 0-arc. The Statement 6 is

proved.

then
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Now we show how to choose an arc j; is to
be deleted from the set GT. The path

(nl(jO)’ IO) can contain only collinear with it

0-arcs. If their set is not empty, then we choose j;-as
the last of them.

Otherwise as j; choose any of the @ -arcs,
which are in force Statement 5 in this case is not
empty. Removing the arc j; from the set GT, and
adding an arc j,, we get a new spanning subtree
GT*, which for plan (X, }) satisfies the conditions

1) and 2). Note that because of conditions (4) and
the Statement 1 the plan is an extreme-point
solution of problem (1).

Now consider the case when inequality jo
of conditions (5) is violated. Consider the same
loop as above in the opposite direction of the arc jp.
Calculate the values E and Y according to the
formulas (6), (7) and (8). In this case following
statement is fare.

Statement 7. If E >0, then there exists an arc j

that j € (nl(jo), IO) and j is an @ -arc or O-arc.
The proof of this Statement is similar to

that of Statement 2.
If £2>0let us delete from the tree GT the
@-arc or O-arc, belonging to the path
(nl(jO)’IO) and add arc j,. We get a new

first

spanning subtree GT*, which satisfies conditions 1)

and 2). For the corresponding vector (z,ﬁ) the

following statement is true.
Statement 8.

1) Zizzi, ir (i) e @);
2) II =4 =A it n(ig)e(0), where
A= () () 7Y

The proof of this Statement is similar to
Statement 3.

In the case when E<O, let us do cyclic
change of the flow in the opposite direction of the
arc jo on the value of Y. We obtain a new
admissible solution (x,}) of the problem (1) by
the same formulas as above. For the solution
(X,y) Statements 4 and 5 will be fair.

Now we show how to choose an arc j; to be
deleted from GT. The path (nz(jo), IO) can

contain only collinear with it O-arcs. If their set is
not empty, then we choose the last one. Otherwise
consider the arc jo. If it is a 0-arc, then leave the
current subtree without changes. Otherwise,
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consider the path (Io,nl(jo)) that may contain

only collinear with it O-arcs. If their set is not
empty, then we choose j; as the last of them.

Otherwise as j, choose any of the @-arcs of the
cycle, which in this case, as to Statement 6 is not
empty. Removing the arc j; from the set GT, and
adding an arc j,, we get a new spanning subtree
GT*, which for solution (Xx,)) satisfies the

conditions 1) and 2). So (X, J) is an extreme-point

solution of problem (1).

Thus, at each step there is a transition either
to a new extreme-point solution with a smaller
value of the functional or to a new spanning
subtree, the values of the components of the vector
A which is no more than, and at least for one node
strictly smaller, than the vector components A4 of
the previous spanning tree. This eliminates the
possibility of looping by the above algorithm.

Due to the fact that there is a finite number
of different spanning subtrees and extreme-point
solutions for problem (1), we get an extreme-point
solution (x,y) and a spanning subtree GT that satisfy
the conditions 1) and 2), such that the associated
vector (A, i) satisfies the inequalities (4) and (5)
in a finite number of steps.

Consider the following vector (A4, zz), such
if

ﬁ. :Z« - _2/ =\ 1
3o, Ty (0)
jeT\I'T, j—6-arc and ﬁj:'uj for the

that

other j. Note that due to relations (4) and (5)

OSIu.Si, jerl.
a

J .
J

It is easy to check that the vector (A, i) is
an admissible solution of the problem (2) and
associated by conditions (3) with extreme-point
solution (x,y). By theorem 1 it follows that vector
(x,y) is the optimal solution of the problem (1).

It remains to show the existence of some
initial feasible solution (x,y) and a spanning subtree
GT for which the conditions 1) and 2) are fulfilled.
It is easy to do, relying on the following statement.
Statement 9. There is a connecting subtree of the
original graph with the proper orientation
(Definition 3) of all its arcs.

Let us prove statement 9. For each node of
the initial graph an oriented path exists from root to
this node, otherwise the node could be initially
excluded from consideration, together with the
incident arcs. We will take the root of the tree as
the initial subtree. Connect the root by oriented way
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with an arbitrary node, not belonging to the subtree.
Consider the plot of this path from this node to the
first node belonging to the subtree. A new subtree
contains at least one node more than the previous
one, and all its arcs are properly oriented.
Continuing the above procedure, for a finite
number of steps we will construct a spanning
subtree with the proper orientation of all its arcs.
The proof is complete.

Problem (1) was considered by us in the

assumption that aj >0, jeTI'. Let us now

consider the problem in the general case, when
aj >0, j € I"'. Note also that the case aj <0

has no meaningful sense from the point of view of
the consideration of the x variables as resource
variables. In the general case the problem has the
following form:

min( Y X.), 9)
XY jer J
z y'_ z yzol iEBs
jec@) 1 jeD()
Z yJ_ Z yJ:dI' iECI
j € D(i) jeC(i)
yjsbj, Jel,,
.—a.x.<b., jel,
Yimai%i=Pp 1€
ijO, JeFl, yjzo, Jjel.
Where

Flz{jel“: aj >0}
FZ:{jeF: aj :O}.

Problem (9), generally speaking, may not
have admissible solutions. Now let us consider an
auxiliary problem by introducing additional

variables xj >0 j eF2 and capacity functions

5xj+bj >0 jerz,

where
1. .-
5= ¥ )
jeFl j
The mathematical formulation of the
auxiliary problem has the following form:
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min( > Xx.), (10)
XY jel J

> Yy.— X y.=0, ieB,

jec@) 1 jeD() !

Z yJ_ Z yJ:dI’ i€C1

j € D(i) jeC(i)

yj£5xj+bj, Jel,,

.—a.x.<b., jeIl,,

YiTq%i =P Jeh

ijO, ijO, jer.

Problem (10) refers to the type of problems
which can be solved by algorithm discussed in
detail above. Therefore, it can be solved by method
of generalized potentials.

The following theorem is fair.

Theorem 2. Let (x*,y*) is optimal solution of

problem (10). If it exists i € ', , such that xr >0,

2
the set of feasible solutions of problem (9) is
empty. Otherwise, vector (x*,y*) is optimal
solution of problem (9).

Prove theorem 2. Let (x*,y*) is optimal
solution of problem (10). Suppose that the set
B= {l € FZ :
solution (x*,y*) is not an extreme-point of the
feasible set, it can be represented as some convex
combination of optimal extreme-points. Then it can

be stated that if j0 € B, then an optimal extreme-

x:>0 is not empty. If the

point exists for which x".c >0. That is, a set B
0

that is not empty. Thus, we can assume without loss

of generality that (x*,y*) is the optimal extreme-

point.

Now assume that the set of feasible
solutions is not empty and the vector (x,y) is a
feasible solution of the problem (9). |If
A= X xi it is easy to show that problem (9) is

e Fl
equivalent to the problem on the set:

0< -Sb-, i I, 0< -SAa--I-b-,
Yi=Pp 1<% V=08 +h

i <Xx.< i

JGFZ, O_xJ_A, jeFl
Consequently, the problem has a solution

because of the Weierstrass theorem. Since the

problem (9) is a linear programming problem, then

it has an optimal extreme-point, which we denote
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as (X, ¥). If now we complement the vector (X, J)

by components xj =0, jeFZ, the resulting

vector (X,Y) is an extreme-point of problem (10).

This follows from the admissibility of the vector
(X,y) and the fact that the system of columns

corresponding to positive components is not
changed, that is still linearly independent.

From the theory of linear programming, it
is known, that a sequence of extreme-points exists,
starting with arbitrary initial point (X, )) and
ending with the optimal solution (x*,y*). Adjacent
members of this sequence are adjacent extreme-
points (that is, their bases are different by a single
vector), and the value of the functional at these
points does not increase monotonically.

Directly from the above algorithm of the
generalized potentials description it follows that the
transition from extreme-point to a neighboring
extreme-point with not bigger value of the
functional is proceeded by varying vectors y and x
along some cycle for which £<0 and ¥>0.

Since for the vector (X, )) corresponding

set B is empty, and for the vector (x*,y*) is not
empty, then in the sequence a pair of neighboring
points (x1,y1) and (xa,Y»), exists for which the set B
is empty and not empty, respectively.

This transition can be carried out only for
the loop containing the properly oriented arc jo of

the set G,. But then A,uj =1:2 > i.lf

0o 9 je Fl aj
the cycle contains arc j of the set G, with the
opposite orientation, then A,uj =0.Letrarcsina

cycle of the set G, have the proper orientation.
Then the following is fair:
1

E= Y Au. 2r£— > —>0.
jeH o je Fl aj

Therefore, such a transition is impossible.
And, therefore, the assumption of non-emptiness of
the set of feasible solutions of problem (9) is
incorrect. Thus, the first part of the theorem is
proved.

The justice of the second part of the
theorem follows directly from the fact that the
vector (x*,y*) is an admissible solution of the
problem (9), and the problem (9) is a restriction of
problem (10) for a subset of the set of the
admissible solutions. The theorem is proved.
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4 Conclusion

Thus it has been developed and validated a
new efficient algorithm for linear separable
problem of synthesis of communication networks,
titled "method of generalized potentials”, which is
close to the well-known method of potentials for
solving the classical transportation problem [3].

The algorithm was developed for the Gale
problem on demand and supply with the arcs
capacities, depending on the distribution of
resources. It is shown that from a mathematical
point of view the task from multiple points of
production and limited stocks of product can be
reduced to the task with a single item of production
with an unlimited supply of the product. The
algorithm of the method of generalized potentials
applied to the reduced problem. The developed
algorithm of transition to the solution of the
original problem, proved the finiteness of the
algorithm and the inability of the looping
situations.
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